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Questions

The ape is accepted, and sits quietly smoking a cigar and reading a newspaper, which he
holds upside down

Bruno tends to get bored sitting on the beach, watching the waves, getting sand in his
swimsuit, and reading detective novels for a week

Bruno went to the White Mountains of New Hampshire, and Pauline went to Cape Cod

We have enough spices for only one type of curry. We can cook both chicken curry and
mutton curry.

You must have been either daydreaming or sleeping in class again

Like reward, punishment serves two major functions in discipline. It deters the repetition of
socially undesirable acts, and it shows the adolescent what the social group considers wrong

The children at the deaf-mute center can neither hear nor speak

Among American football aficionados, the tackling of the quarterback behind the line of
scrimmage that is known as a “sack.”

The total of livestock of all kinds which used the National Agricultural Systemin 1910 under
pay permits 2.75% in comparison with the previous year.

Which one of the following is a sentence fragment?

Answers Choice

A. It is a compound-complex
sentence

. It is a compound sentence
. It is a simple sentence

. It is a complex sentence
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. Compound Sentence

. Simple Sentence

. Compound-Complex Sentence
Complex Sentence

Compound-Complex Sentence
Complex Sentence

Compound Sentence

Simple Sentence

Both...and
Either...or
Neither...nor
Either...and

Neither...nor

. <sub>Either...or</sub>
Neither...or

Both...or

Permits
Changes

. Discourages
Encourages

Neither...and
Neither...nor
Either...and
Either...nor

That is
.is what is
C. has what
D. what is
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A. carried off
B. fired off
C. laid off

D. fell off

A. the dog will not bite him

B. However, the dog doesn't bite him
C. Although the dog will not bite him
D. All of the above



